

Article **Strongest relation, cosets and middle cosets of** AQFSC(G)

R. Rasuli

Department of Mathematics, Payame Noor University (PNU), Tehran, Iran; rasulirasul@yahoo.com

Received: 16 February 2021; Accepted: 17 June 2021; Published: 12 August 2021.

Abstract: The aim of this paper is to introduce strongest relation, cosets and middle cosets of anti Q-fuzzy subgroups of G with respect to t-conorm C. We investigate equivalent characterizations of them and we construct a new group induced by them, and give the homomorphism theorem between them.

Keywords: Fuzzy algebraic structures; Norms; Anti Q-fuzzy subgroups; Homomorphisms.

1. Introduction and Preliminaries

I n mathematics and abstract algebra, group theory studies the algebraic structures known as groups. The concept of a group is central to abstract algebra. Other well-known algebraic structures, such as rings, fields, and vector spaces, can all be seen as groups endowed with additional operations and axioms. Groups recur throughout mathematics, and the methods of group theory have influenced many parts of algebra. Linear algebraic groups and Lie groups are two branches of group theory that have experienced advances and have become subject areas in their own right.

The concept of a fuzzy set was introduced by Zadeh [1], and it is now a rigorous area of research with manifold applications ranging from engineering and computer science to medical diagnosis and social behavior studies. Conorms are operations which generalize the logical conjunction and logical disjunction to fuzzy logic. They are a natural interpretation of the conjunction and disjunction in the semantics of mathematical fuzzy logics and they are used to combine criteria in multi-criteria decision making. Yuan and Lee [2] defined the fuzzy subgroup and fuzzy subring based on the theory of falling shadows. Also Solairaju and Nagarajan [3] introduced the notion of Q- fuzzy groups. The author by using norms, investigated some properties of fuzzy algebraic structures [4–6].

In [7] the author introduced the notion of anti Q-fuzzy subgroups of G with respect to t-conorm C and study their important properties. In this work, we introduce strongest relation with respect anti Q-fuzzy subgroups of G with respect to t-conorm C and obtain some properties of them. Next, we define the middle coset of anti Q-fuzzy subgroups of G with respect to t-conorm C and investigate some results about them. Finally, we define new group under new operations of them and we prove isomorphism between them.

2. Preliminaries

In this section, we recall some of the fundamental concepts and definition, which are necessary for this paper. For more details we refer readers to [8–11].

Definition 1. A group is a non-empty set *G* on which there is a binary operation $(a, b) \rightarrow ab$ such that

- 1. if *a* and *b* belong to *G* then ab is also in *G* (closure),
- 2. a(bc) = (ab)c for all $a, b, c \in G$ (associativity),
- 3. there is an element $e \in G$ such that ae = ea = a for all $a \in G$ (identity),
- 4. if $a \in G$, then there is an element $a^{-1} \in G$ such that $aa^{-1} = a^{-1}a = e$ (inverse).

One can easily check that this implies the unicity of the identity and of the inverse. A group *G* is called abelian if the binary operation is commutative, i.e., ab = ba for all $a, b \in G$.

Remark 1. There are two standard notations for the binary group operation, either the additive notation, that is $(a, b) \rightarrow a + b$ in which case the identity is denoted by 0, or the multiplicative notation, that is $(a, b) \rightarrow ab$ for which the identity is denoted by *e*.



Definition 2. Let (G,.), (H,.) be any two groups. The function $f : G \to H$ is called a homomorphism (anti-homomorphism) if f(xy) = f(x)f(y)(f(xy) = f(y)f(x)), for all $x, y \in G$.

Definition 3. Let *G* be an arbitrary group with a multiplicative binary operation and identity *e*. A fuzzy subset of *G*, we mean a function from *G* into [0, 1]. The set of all fuzzy subsets of *G* is called the [0, 1]-power set of *G* and is denoted $[0, 1]^G$.

Definition 4. A *t*-conorm *C* is a function $C : [0,1] \times [0,1] \rightarrow [0,1]$ having the following four properties:

- (C1) C(x, 0) = x,
- (C2) $C(x, y) \le C(x, z)$ if $y \le z$,
- (C3) C(x, y) = C(y, x),
- (C4) C(x, C(y, z)) = C(C(x, y), z), for all $x, y, z \in [0, 1]$.

Example 1. Following are some examples of *t*-conorms:

- 1. Standard union *t*-conorm $C_m(x, y) = \max\{x, y\}$.
- 2. Bounded sum *t*-conorm $C_b(x, y) = \min\{1, x + y\}$.
- 3. Algebraic sum *t*-conorm $C_p(x, y) = x + y xy$.
- 4. Drastic T-conorm

$$C_D(x,y) = \begin{cases} y & \text{if } x = 0\\ x & \text{if } y = 0\\ 1 & \text{otherwise,} \end{cases}$$

dual to the drastic *T*-norm.

5. Nilpotent maximum *T*-conorm, dual to the nilpotent minimum *T*-norm:

$$C_{nM}(x,y) = \begin{cases} \max\{x,y\} & \text{if } x+y < 1\\ 1 & \text{otherwise.} \end{cases}$$

6. Einstein sum (compare the velocity-addition formula under special relativity) $C_{H_2}(x,y) = \frac{x+y}{1+xy}$ is a dual to one of the Hamacher *t*-norms. Note that all *t*-conorms are bounded by the maximum and the drastic t-conorm: $C_{\max}(x,y) \le C(x,y) \le C_D(x,y)$ for any *t*-conorm *C* and all $x, y \in [0,1]$.

Recall that *t*-conorm *C* is idempotent if for all $x \in [0, 1]$, we have that C(x, x) = x.

Lemma 1. Let C be a t-conorm, then

$$C(C(x,y),C(w,z)) = C(C(x,w),C(y,z)),$$

for all $x, y, w, z \in [0, 1]$.

Definition 5. Let (G, .) be a group and Q be a non empty set. $\mu \in [0, 1]^{G \times Q}$ is said to be an anti Q-fuzzy subgroup of G with respect to *t*-conorm C if the following conditions are satisfied:

1. $\mu(xy,q) \le C(\mu(x,q),\mu(y,q)),$ 2. $\mu(x^{-1},q) \le \mu(x,q),$ for all $x, y \in G$ and $q \in Q$.

Throughout this paper the set of all anti *Q*-fuzzy subgroups of *G* with respect to *t*-conorm *C* will be denoted by AQFSC(G).

Lemma 2. Let $\mu \in AQFSC(G)$ and C be idempotent t-conorm, then $\mu(e_G, q) \leq \mu(x, q)$ for all $x \in G$ and $q \in Q$.

Proposition 1. Let C be idempotent t-conorm, then $\mu \in AQFSC(G)$ if and only if

$$\mu(xy^{-1},q) \le C(\mu(x,q),\mu(y,q))$$

for all $x, y \in G$ and $q \in Q$.

Definition 6. We say that $\mu \in AQFSC(G)$ is a normal if $\mu(xyx^{-1}, q) = \mu(y, q)$ for all $x, y \in G$ and $q \in Q$. We denote by NAQFSC(G) the set of all normal anti *Q*-fuzzy subgroups of *G* with respect to *t*-conorm *C*.

Definition 7. Let (G, .), (H, .) be any two groups such that $\mu \in AQFSC(G)$ and $\nu \in AQFSC(H)$. The product of μ and ν , denoted by $\mu \times \nu \in [0, 1]^{(G \times H) \times Q}$, is defined as

$$(\mu \times \nu)((x,y),q) = C(\mu(x,q),\nu(y,q))$$

for all $x \in G, y \in H, q \in Q$.

Throughout this paper, *H* denotes an arbitrary group with identity element e_H .

Proposition 2. *If* $\mu \in AQFSC(G)$ *and* $\nu \in AQFSC(H)$ *, then* $\mu \times \nu \in AQFSC(G \times H)$ *.*

3. strongest relation, cosets and middle cosets of *QFST*(*G*)

Definition 8. Let $\mu \in [0,1]^{G \times Q}$ and $\nu \in [0,1]^{(G \times G) \times Q}$. We say that ν is the strongest relation of *G* with respect to μ if

$$\nu((x,y),q) = C(\mu(x,q),\mu(y,q)).$$

Proposition 3. Let $\mu \in [0,1]^{G \times Q}$ and ν be the strongest relation of G with respect to μ . Then $\mu \in AQFSC(G)$ if and only if $\nu \in AQFSC(G \times G)$.

Proof. Let $\mu \in AQFSC(G)$, then,

1. for all $(x_1, x_2), (y_1, y_2) \in G \times G$ and $q \in Q$ we have

$$\begin{aligned} \nu((x_1, x_2)(y_1, y_2), q) &= C(\mu(x_1, x_2), q), \mu(y_1, y_2), q)) \\ &\leq C(C(\mu(x_1, q), \mu(x_2, q)), C(\mu(y_1, q), \mu(y_2, q))) \\ &= C(C(\mu(x_1, q), \mu(y_1, q)), C(\mu(x_2, q), \mu(y_2, q))) \\ &= C(\nu((x_1, y_1), q), \nu((x_2, y_2), q)) \end{aligned}$$

and then

$$\nu((x_1, x_2)(y_1, y_2), q) \le C(\nu((x_1, y_1), q), \nu((x_2, y_2), q))$$

2. For all $(x, y) \in G \times G$ and $q \in Q$ we obtain that

$$\nu((x,y)^{-1},q) = \nu((x^{-1},y^{-1}),q)$$

= $C(\mu(x^{-1},q),\mu(y^{-1},q))$
 $\leq C(\mu(x,q),\mu(y,q))$
= $\nu((x,y),q).$

Then $\nu \in AQFSC(G \times G)$.

Conversely, assume that $\nu \in AQFSC(G \times G)$.

1. Let $x_1, x_2, y_1, y_2 \in G$ with $x_2 = y_2 = e_G$ and $q \in Q$. From Lemma 2 we get that $\mu(e, q) \leq \mu(x_1y_1, q)$ and so

$$\mu(x_1y_1,q) = C(\mu(x_1y_1,q),\mu(e_G,q))$$

= $C(\mu(x_1y_1,q),\mu(x_2y_2,q))$
= $\nu((x_1y_1,x_2y_2),q)$
= $\nu((x_1,x_2)(y_1,y_2),q)$

$$\leq C(\nu((x_1, x_2), q), \nu((y_1, y_2), q)) = C(C(\mu(x_1, q), \mu(x_2, q)), C(\mu(y_1, q), \mu(y_2, q))) = C(C(\mu(x_1, q), \mu(e, q)), C(\mu(y_1, q), \mu(e, q))) \leq C(C(\mu(x_1, q), \mu(x_1, q)), C(\mu(y_1, q), \mu(y_1, q))) = C(\mu(x_1, q), \mu(y_1, q)))$$

and thus

$$\mu(x_1y_1,q) \leq C(\mu(x_1,q),\mu(y_1,q)).$$

2. Let $x, y \in G$ with $y = e_G$ and $q \in Q$. Then by Lemma 2 we obtain

$$\mu(x^{-1},q) = C(\mu(x^{-1},q),\mu(e_G,q))$$

$$\leq C(\mu(x^{-1},q),\mu(y^{-1},q))$$

$$= \nu((x^{-1},y^{-1}),q)$$

$$= \nu((x,y)^{-1},q) \leq \nu((x,y),q)$$

$$= C(\mu(x,q),\mu(y,q))$$

$$= C(\mu(x,q),\mu(e,q))$$

$$\leq C(\mu(x,q),\mu(x,q))$$

$$= \mu(x,q)$$

and then

$$\mu(x^{-1},q) \le \mu(x,q).$$

Therefore $\mu \in AQFSC(G)$.

Definition 9. Let $\mu \in AQFSC(G)$, then middle coset $a\mu b : G \times Q \rightarrow [0, 1]$ is defined by

$$(a\mu b)(x,q) = \mu(a^{-1}xb^{-1},q)$$

for all $x \in G$, $q \in Q$ and $a, b \in G$.

Proposition 4. Let $\mu \in AQFSC(G)$, then $a\mu a^{-1} \in AQFSC(G)$ for any $a \in G$.

Proof. Let $a, x, y \in G$ and $q \in Q$, then

1.
$$(a\mu a^{-1})(xy,q) = \mu(a^{-1}xya,q) = \mu(a^{-1}xaa^{-1}ya,q) \le C(\mu(a^{-1}xa,q),\mu(a^{-1}ya,q))$$

= $C((a\mu a^{-1})(x,q),(a\mu a^{-1})(y,q)),$
2. $(a\mu a^{-1})(x^{-1},q) = \mu(a^{-1}x^{-1}a,q) = \mu((a^{-1}xa)^{-1},q) \le \mu(a^{-1}xa,q) = (a\mu a^{-1})(x,q)$

Thus $a\mu a^{-1} \in AQFSC(G)$ for any $a \in G$. \Box

Definition 10. Let $\mu \in AQFSC(G)$, then coset $a\mu : G \times Q \rightarrow [0,1]$ is defined by $(a\mu)(x,q) = \mu(a^{-1}x,q)$ for all $x \in G, q \in Q$ and $a \in G$.

Proposition 5. Let $\mu \in AQFSC(G)$ and C be idempotent t-conorm, then $x\mu = y\mu$ if and only if $\mu(x^{-1}y,q) = \mu(y^{-1}x,q) = \mu(e_G,q)$ for all $x, y \in G$ and $q \in Q$.

Proof. Let $x, y, g \in G$. If $x\mu = y\mu$, then $x\mu(x,q) = y\mu(x,q)$ and $\mu(x^{-1}x,q) = \mu(y^{-1}x,q)$ so $\mu(e_G,q) = \mu(y^{-1}x,q)$.

Also as $x\mu = y\mu$ so $x\mu(y,q) = y\mu(y,q)$ and $\mu(x^{-1}y,q) = \mu(y^{-1}y,q)$, which implies that $\mu(x^{-1}y,q) = \mu(e_G,q)$. Therefore we obtain that $\mu(x^{-1}y,q) = \mu(y^{-1}x,q) = \mu(e_G,q)$. Conversely, let $\mu(x^{-1}y, q) = \mu(y^{-1}x, q) = \mu(e_G, q)$. Then

$$\begin{aligned} x\mu(g,q) &= \mu(x^{-1}g,q) \\ &= \mu(x^{-1}yy^{-1}g,q) \\ &\leq C(\mu(x^{-1}y,q),\mu(y^{-1}g,q)) \\ &= C(\mu(e_G,q),\mu(y^{-1}g,q)) \\ &\leq C(\mu(y^{-1}g,q),\mu(y^{-1}g,q)) \\ &= \mu(y^{-1}g,q) = y\mu(g,q) \\ &= \mu(y^{-1}g,q) \\ &= \mu(y^{-1}xx^{-1}g,q) \\ &\leq C(\mu(y^{-1}x,q),\mu(x^{-1}g,q)) \\ &\leq C(\mu(x^{-1}g,q),\mu(x^{-1}g,q)) \\ &\leq C(\mu(x^{-1}g,q),\mu(x^{-1}g,q)) \\ &= \mu(x^{-1}g,q) = x\mu(g,q) \end{aligned}$$

and $x\mu(g,q) = y\mu(g,q)$, which implies that $x\mu = y\mu$. \Box

Proposition 6. Let $\mu \in AQFSC(G)$ and C be idempotent t-conorm. If $x\mu = y\mu$, then $\mu(x,q) = \mu(y,q)$ for all $x, y \in G$ and $q \in Q$.

Proof. Since $x\mu = y\mu$, so from Proposition 5 we have $\mu(x^{-1}y,q) = \mu(y^{-1}x,q) = \mu(e_G,q)$ for all $x, y \in G$ and $q \in Q$. Now

$$\mu(x,q) = \mu(yy^{-1}x,q) \leq C(\mu(y,q),\mu(y^{-1}x,q)) = C(\mu(y,q),\mu(e_G,q)) \leq C(\mu(y,q),\mu(y,q)) = \mu(y,q) = \mu(xx^{-1}y,q) \leq C(\mu(x,q),\mu(x^{-1}y,q)) = C(\mu(x,q),\mu(e_G,q)) \leq C(\mu(x,q),\mu(x,q)) = \mu(x,q)$$

and thus $\mu(x,q) = \mu(y,q)$. \Box

Proposition 7. If $\mu \in NAQFSC(G)$, then the set $\frac{G}{\mu} = \{x\mu : x \in G\}$ is a group with the operation $(x\mu)(y\mu) = (xy)\mu$.

Proof.

- **oof.** 1. If $x, y \in G$, then $xy \in G$. If $x\mu, y\mu \in \frac{G}{\mu}$ then $(x\mu)(y\mu) = (xy)\mu \in \frac{G}{\mu}$. 2. Let $x, y, z \in G$ then x(yz) = (xy)z. Now let $x\mu, y\mu, z\mu \in \frac{G}{\mu}$ so $(x\mu)[(y\mu)(z\mu)] = [(x\mu)](yz\mu) = (xyz)\mu =$ $(xy)z\mu = (xy\mu)(z\mu) = [(xy\mu)](z\mu) = [(x\mu)(y\mu)](z\mu).$
- 3. Let $x \in G$ then $xe_G = e_G x = x$. Thus $(x\mu)(e_G\mu) = (xe_G\mu) = (e_G x\mu) = x\mu$. If $x \in G$, then there is an element $x^{-1} \in G$ such that $xx^{-1} = x^{-1}x = e_G$. Let $x\mu \in \frac{G}{\mu}$ there is an element $(x\mu)^{-1} = x^{-1}\mu \in \frac{G}{\mu}$ such that $(x\mu)(x\mu)^{-1} = (x\mu)(x^{-1}\mu) = (xx^{-1}\mu) = (x^{-1}x\mu) = e_G^r \mu = \mu.$ Hence $\frac{G}{u}$ is a group. \Box

Proposition 8. Let $f : G \to H$ be a homomorphism of groups and let $\nu \in NAQFSC(H)$ and μ be homomorphic pre-image of v. Then $\varphi: \frac{G}{\mu} \to \frac{H}{\nu}$ such that $\varphi(x\mu) = f(x)v$, for every $x \in G$, is an isomorphism of groups.

Proof. Let $x, y \in G$ and $q \in Q$. Then

$$\varphi((x\mu)(y\mu)) = \varphi((xy)\mu) = f(xy)\nu = f(x)f(y)\nu = f(x)\nu f(y)\nu = \varphi(x\mu)\varphi(y\mu)$$

and so φ is a group homomorphism. Clearly φ is onto and we prove that φ is one-one. If $\varphi(x\mu) = \varphi(y\mu)$, then $f(x)\nu = f(y)\nu$ and from Proposition 5 we get

$$\nu(f(x)^{-1}f(y),q) = \nu(f(y)^{-1}f(x),q) = \nu(f(e_G),q).$$

so

$$\nu(f(x^{-1})f(y),q) = \nu(f(y^{-1})f(x),q) = \nu(f(e_G),q),$$

then

$$\nu(f(x^{-1}y),q) = \nu(f(y^{-1}x),q) = \nu(f(e_G),q),$$

which implies that

$$\mu(x^{-1}y,q) = \mu(y^{-1}x,q) = \mu(e_G,q),$$

and $x\mu = y\mu$ which implies that φ is one-one. Therefore φ will be an isomorphism of groups. \Box

Proposition 9. Let $f : G \to H$ be an anti homomorphism of groups and let $v \in NQFST(H)$ and μ be anti homomorphic pre-image of v. Then $\varphi : \frac{G}{u} \to \frac{H}{v}$ such that $\varphi(x\mu) = f(x)v$, for every $x \in G$, is an isomorphism of groups.

Proof. Firstly, we prove that φ is an anti group homomorphism. Let $x, y \in G$ and $q \in Q$. Then

$$\varphi((x\mu)(y\mu)) = \varphi((xy)\mu) = f(xy)\nu = f(y)f(x)\nu = f(y)\nu f(x)\nu = \varphi(y\mu)\varphi(x\mu),$$

and so φ is an anti group homomorphism. Clearly φ is onto and we prove that φ is one-one. If $\varphi(x\mu) = \varphi(y\mu)$, then $f(x)\nu = f(y)\nu$ and from Proposition 5 we get

$$\nu(f(x)^{-1}f(y),q) = \nu(f(y)^{-1}f(x),q) = \nu(f(e_G),q),$$

so

$$\nu(f(x^{-1})f(y),q) = \nu(f(y^{-1})f(x),q) = \nu(f(e_G),q),$$

then

$$\nu(f(yx^{-1}),q) = \nu(f(xy^{-1}),q) = \nu(f(e_G),q),$$

which implies that

$$\mu(yx^{-1},q) = \mu(xy^{-1},q) = \mu(e_G,q)$$

and thus Proposition 5 gives us $x\mu = y\mu$ which implies that φ is one-one. Therefore φ will be an anti isomorphism of groups. \Box

Acknowledgments: It is my pleasant duty to thank referees for their useful suggestions which helped me to improve our manuscript.

Conflicts of Interest: "The author declares no conflict of interest."

References

- [1] Zadeh, L. A. (1965). Information and control. *Fuzzy sets*, *8*(3), 338-353.
- [2] Yuan, X. H., & Lee, E. S. (1997). A fuzzy algebraic system based on the theory of falling shadows. *Journal of Mathematical Analysis and Applications*, 208(1), 243-251.
- [3] Solairaju, A., & Nagarajan, R. (2009). A new structure and construction of Q-fuzzy groups. *Advances in fuzzy mathematics*, 4(1), 23-29.
- [4] Rasuli, R. (2016). Fuzzy Ideals of Subtraction Semigroups with Respect to A t-norm and A t-conorm. *The Journal of Fuzzy Mathematics Los Angeles*, 24(4), 881-892.
- [5] Rasuli, R. (2016). Fuzzy modules over a t-norm. International Journal of Open Problems in Computer Science and Mathematics, 9 (3), 12-18.

- [6] Rasuli, R. (2016). Fuzzy Subrings over a t-norm. The Journal of Fuzzy Mathematics Los Angeles, 24(4), 995-1000.
- [7] Rasuli, R. (2020). Anti Q-fuzzy subgroups under t-conorms. Earthline Journal of Mathematical Sciences, 4(1), 13-28.
- [8] Osman, M. A. (1987). On some product of fuzzy subgroups. Fuzzy sets and systems, 24(1), 79-86.
- [9] Buckley, J. J., & Eslami, E. (2002). *An introduction to fuzzy logic and fuzzy sets* (Vol. 13). Springer Science & Business Media.
- [10] Hungerford, T. W., Pierce, R. S., Hartshorne, R., Edoardo, S., Stevens, J., Greuel, G. M. & Yang, C. C. (2008). Teesta-Indus Central Library. *American Mathematical Society*, 1.
- [11] Malik, D. S & Mordeson, J. N. (1995). Fuzzy Commutative Algebra. World Science publishing Co.Pte.Ltd.



© 2021 by the authors; licensee PSRP, Lahore, Pakistan. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC-BY) license (http://creativecommons.org/licenses/by/4.0/).